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B.Sc. 1st  Semester (Programme) Examination, 2020-21 

PHYSICS 

Course ID : 12418     Course Code : SP/PHS/101C/1A 

Course Title: Physics-I 

Time: 1 Hour 15 Minutes        Full Marks: 25 

The figures in the right hand side margin indicate marks. 

The questions are of equal value. 

1. Answer any five of the following questions:                                                    (1×5=5) 

a) What is the relation between torque and angular acceleration?  

টর্ক এবং কর্ৌণির্ ত্বরণির মণযে সম্পর্ক র্ী? 

b) What is solenoidal vector? 

সণিনণেডাি কেক্টর র্াণর্ বণি? 

c) Write down the law of conservation of angular momentum. 

কর্ৌণির্ েরণবণের সংরক্ষি সূত্রটট কিখ।  

d) What do you mean by sharpness of resonance? 

অনুনাণের তীক্ষ্মতা বিণত র্ী কবাণ া? 

e) Write down Kepler's second law for planetary motion.  

গ্রণের েণত সম্পণর্কত কর্পিাণরর ণিতীে সূত্রটট কিণখা। 

f) What is torsional rigidity? 

বেবতক েৃঢ়তা র্াণর্ বণি? 

g) What do you mean by ‘The dielectric constant of water is 80’? 

‘জণির পরাববেুেণতর্ ধ্রুবর্ 80’-বিণত র্ী কবাণ া? 

h) What is escape velocity? 

মুক্তিণবে র্াণর্ বণি? 

 

 



2 
 

2.  Answer any two of the following questions:                                                            (5×2=10) 

a) i) What is central force? Mention few properties of central force.                          1+2 

কর্ন্দ্রে বি র্ী? এর র্ণের্টট ববণিষ্ট্ে উণেখ র্ণরা। 

ii) If the distance of earth from sun becomes 1 4⁄  part of its present value then what 

will be the length of a year?              2 

সূর্ ক কেণর্ পণৃেবীর েরূত্ব হ্রাস কপণে বতকমান েরূণত্বর 1 4⁄  অংণি পণরিত েণি বছণরর বের্ঘ কে র্ত 

েণব?                              

b) i) Why is Poisson’s ratio not considered as an elastic modulus? Determine the 

limiting values of Poisson’s ratio.               1+2 

পেসন অনুপাতণর্ ণিণতিাপর্ গুিাঙ্ক ণেসাণব েিে র্রা েে না কর্ন? পেসন অনুপাণতর সীমা 

মান গুণি ণনি কে র্ণরা।  

ii) The Young’s modulus and Poisson’s ratio of a metal are 1.2×1011 N/m2 and 0.34 

respectively. Find out the value of rigidity modulus for that metal.             2 

কর্াণনা যাতুর ইেং গুিাঙ্ক এবং পেসন অনুপাত র্োক্রণম 1.2×1011 N/m2 এবং 0.34। ওই যাতুর 

েৃঢ়তা গুিাণঙ্কর মান ণনি কে র্ণরা। 

c) i) Show that the total energy of a particle remains constant in simple harmonic motion.      

              4 

কেখাও কর্, সরি কোিেণতণত েণতিীি কর্াণনা র্িার কমাট িক্তি ধ্রুবর্ । 

ii) What is reverberation time?                                                1 

অনুরিন র্াি র্ী?    

d) i) Applying Gauss’s theorem in electrostatics, determine the electric field intensity at 

an internal and external point of a uniformly charged hollow sphere.    2+2 

ণির তণিৎ ণবজ্ঞাণনর োউণসর উপপােে প্রণোে র্ণর সষুম োণব আণেত এর্টট ফাাঁপা কোিণর্র 

অেেন্তরি এবং বণেিঃি কর্াণনা ণবন্দণুত তণিৎ প্রাবিে ণনি কে র্ণরা।    
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ii) What is electric displacement vector?                                           1 

ববেুেণতর্ সরি কেক্টর র্ী? 

3.  Answer any one of the following questions:                                                    (10×1=10) 

a) i) Write down the postulates of special theory of relativity.                                  2 

ণবণিষ আণপণক্ষর্তাবাণের স্বীর্ার্ ক গুণি কিণখা।  

ii) On the basis of Lorentz transformation, discuss about length contraction.            3 

কিাণরণের রূপান্তরণনর ণেণিণত বেণর্ঘ কের সংণর্াচন সম্পণর্ক আণিাচনা র্ণরা। 

iii) A particle is moving with a velocity of 0.8c relative to ground. The life-time of 

that particle in a frame in which it is at rest is 6×10-8 s. What will be the distance 

travelled by the particle relative to ground?                                                                        3 

এর্টট র্িা েূণমর স্বাণপণক্ষ 0.8c কবণে েণতিীি। র্িাটট কর্ ণনণেকিতণে ণির কসখাণন তার 

জীবনর্াি 6×10-8 s। েূণমর স্বাণপণক্ষ র্িাটট র্ত েরূত্ব অণতক্রম র্রণব?  

iv) Using the velocity addition theorem in special theory of relativity, prove that the 

velocity of light is the same for all observers.                                                                     2 

ণবণিষ আণপণক্ষর্তাবাণের কবে সংণর্াজন উপপাণেের সাোণর্ে প্রমাি র্ণরা কর্,সর্ি 

পর্ কণবক্ষণর্র র্াণছ আণিার কবে সমান।  

b) i) If the diagonals of a parallelogram are represented by the vectors (3𝑖̂ + 5𝑗̂ + 4𝑘̂) 

and (𝑖̂ − 3𝑗̂ + 2𝑘̂), then find out its area.                                                                          3 

কর্াণনা সামান্তণরণর্র র্ি কিেণর্ (3𝑖̂ + 5𝑗̂ + 4𝑘̂) এবং (𝑖̂ − 3𝑗̂ + 2𝑘̂) কেক্টরিে িারা প্রর্াি 

র্রা েণি,সামান্তণরর্টটর কক্ষত্রফি ণনি কে র্ণরা। 

ii) State Gauss’s divergence theorem.  Show that, ∬ 𝑟. 𝑑𝑆
𝑠

= 3𝑉 , where V is the 

volume of the region enclosed by the surface S and  𝑟 = 𝑖̂𝑥 + 𝑗̂𝑦 + 𝑘̂𝑧.                   1+3                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                
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োউণসর ডাইোরণজন্স উপপােেটট ণববতৃ র্ণরা। কেখাও কর্, ∬ 𝑟. 𝑑𝑆
𝑠

= 3𝑉 , কর্খাণন S তি 

িারা আবদ্ধ কক্ষণত্রর আেতন V এবং 𝑟 = 𝑖̂𝑥 + 𝑗̂𝑦 + 𝑘̂𝑧। 

ii) For 𝜙 = 𝑟𝑛, prove that  ∇⃗⃗⃗𝜙 = 𝑛𝑟𝑛−2𝑟. Given, 𝑟 = 𝑖̂𝑥 + 𝑗̂𝑦 + 𝑘̂𝑧.                               3                                                                                                                                                                                                                                                                                                                                                                                                        

𝜙 = 𝑟𝑛  েণি, কেখাও কর্ ∇⃗⃗⃗𝜙 = 𝑛𝑟𝑛−2𝑟। কেওো আণছ, 𝑟 = 𝑖𝑥̂ + 𝑗̂𝑦 + 𝑘̂𝑧। 
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